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M.A.(First Semester)
EXAMINATION, Dec. - Jan., 2021-22

ECONOMICS
Paper First

(Micro Economics - I)

Time : Three Hours] [Maximum Marks: 80
[Minimum Pass Marks: 16



Attempt all the sections as directed.



(Section - A)



(Objective/Multiple Choice Questions)

(1 mark each)



Note- Attempt all the Questions.
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1. 

(A) 

(B) 

(C) 

(D) 

Which of the following is related to micro economics?

(A) Inflation in the economy

(B) Problem of Unemployment

(C) National income

(D) Income from the railways

2. X Y 

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A consumer buys 2 comodities X and Y, he would be in
equilibrium when-
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3.          


(A) 

(B)  

(C) 

(D) 

The ratio of exchange between two goods on an indiffer-
ence curve analysis shown by the -

(A) MRS

(B) Indifference curve

(C) Price line

(D) Income consumption curve

4. 

(A)  

(B)  

(C) (A)(B)

(D) 

Law of demand is a-

(A) Quatitative Statement

(B) Qualitative Statement

(C) Both (A) and (B)

(D) None of the above
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5.   
 

(A) 

(B) 

(C) 

(D) 

For a commodity with a unitary elastic demand cuve, if
the price of the commodity rises, then the consumers
total expenditure on this commodity would -

(A) Increase

(B) Decrease

(C) Constant

(D) All of the above

6. 

(A) 

(B) 

(C) 

(D) 

When Marginal Utility is zero than total utilities is-

(A) Minimum

(B) Maximum

(C) Negative

(D) Zero
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7. 


(A) 

(B)  

(C)  

(D) 

When commodity price increase 10% then demand will
be decrease 5% then that commodity will be -

(A) General goods

(B) Compulsory goods

(C) Luxury goods

(D) All of the above

8. X 


(A)   

(B)  

(C) 

(D) 

If the price of commodity X is increasing resulting de-
crease in total expenditure then elasticity of demand will
be -

(A) Equal to unit (B) Less than unit

(C) More than unit (D) Zero
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9. 

(A) 

(B) 

(C)    

(D) 

When indifference curve is a line -

(A) Constant marginal rate of subsititution

(B) Increasing marginal rate of subsititution

(C) Increasing return to scale

(D) None of the above

10. 

(A) 

(B) 

(C) 

(D) 

Expansion and contraction in demand are caused by -

(A) Change in the prices of related goods

(B) Change in the price of commodity

(C) Change in the taste preference of the buyer

(D) Change in the income of buyer
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11. 

(A)
 

  

(B)
 



(C)
 



(D) 2

   

Average Revenue is equal to -

(A)
Total Revenue
Quantity sold

(B)
Average Revenue

2

(C)
Total Revenue

100

(D)
Average Quantity 2

Quantity sold
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12. 



(A)  (B) 

(C)  (D) 

When the firm is producing 3 tonnes of sugar, it recieves
total revenue of Rs. 24. Raising production to 4 tonnes,
increase total revenue to Rs. 28. Thus, marginal revenue
is-

(A) Rs. 24

(B) Rs. 4

(C) Rs. 8

(D) Rs. 52

13. 

(A) 

(B) 

(C) 

(D) 

Average Revenue of a monopolist firm is-

(A) Always less than the Marginal Revenue

(B) Always equal to Marginal Revenue

(C) Always more than the Marginal Revenue

(D) All of the above
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14. 

(A)  

(B)  

(C)  

(D)  

If marginal revenue curve is a straight horizontal line in-

(A) Monopolistic market

(B) Monopoly market

(C) Oligopoly market

(D) Perfectly competitive market

15. 

(A)          


(B) 

(C) 

(D) (A)(B) 

A perfectly competitive firm attains equilibrium at a point
where -

(A) MR is equal to MC and MC curve intersects MR
curve from below

(B) MC is equal to MR

(C) MC is equal to AC

(D) Both (A) and (B)
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16. 

(A) 

(B)  

(C)  

(D) 

Market which has a few firms is-

(A) Oligopoly

(B) Perfect competition

(C) Monopolistic competition

(D) Monopoly

17.   

(A) 

(B)  

(C) 

(D)   

Kinked demand curve is found in -

(A) Perfect competition

(B) Monopoly

(C) Oligopoly

(D) Monopolistic competition
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18. 

(A)  

(B) 

(C)  

(D) 

Excess capacity is present in-

(A) Perfect competition

(B) Oligopoly

(C) Monopolistic competition

(D) Monopoly

19. 


(A) 

(B) 

(C) 

(D) 

In the first stage of law of variable proportions total prod-
uct increases at on -

(A) Decreasing rate

(B) Increasing rate

(C) Constant rate

(D) All of the above
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20. 

(A) 

(B) 

(C)   

(D) (A)(B)

Increasing returns is applicable because of-

(A) Increased efficiency of variable factor

(B) Full utilisation of fixed factor

(C) Indivisibility of factors

(D) Both (A) and (B)



Section - B

 

(Very Short Answer Type Question)

(2 marks each)



Note: Attempt all questions.

1. ?

What do you mean by General Equilibrium?

2. ?

What is marginal rate of technical substitution?
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3.     

Explain the decreasing return to scale.

4. ?

What is revealed preference theory?

5. ?

What do you meant by cross elasticity?

6. 

What is price line?

7. ?

What do you meant by Indifference Map?

8.  ?

What is long term production function?



Section - C

 

(Short Answer Type Question)

(3 marks each)


Note: Attempt all questions.

1.    

Explain the types of cross elasticity of demand.
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2.  

Mention the equilibrium condition under monopoly.

3.    

Explain constant return to scope.

4.      

Explain the characteristics of the perfect competition.

5.  

Explain price discrimination under monopoly.

6.    

Describe kinked demand curve under oligopoly.

7. 

Throw light on group equilibrium.

8.     

Discuss selling cost.


Section - D



(Long Answer Type Question)
(5 marks each)



Note: Attempt all questions in150 - 200 words.

1.      

Throw light on Slutsky substitution effect.

OR
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   

Explain the types of income elasticity of demand.

2.   

Explain the law of variable proportion.

OR

 

Explain consumer equilibrium through indifference curve.

3.      

Comparison between perfect competition and mo-
nopoly market.

OR


    

What do you understand by return to scale? Discuss
the different types of returns to scale.

4. 

Throw light on Hicksian consumer surplus a theory.

OR

    

Discuss group equilibrium under monopolistic competi-
tion.


